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Unit 8 - Week 7

Course outline

Assignment 7

The due date for submitting this assignment has passed. Due on 2020-05-01, 23:59 IST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course wark?

Week 1

1)  Which of the following is NOT true about Serviet interface? 1 point
Waek 2 It is implemented in Web applications
Week 3 Part of view in model-view-storage architecture.

It provides native support for HTTR

Week 4 It is written in Java and hence robust

Mo, the answer is incorrect.
Week 5 Score: 0

Accepted Answers:
Week 6 Part of view in model-view-storage architecture.
Week 7 2] Which is NOT true? 1 point

® Week?7 Session1-Part1 CGl programs can be written in almost any language, and on any platform
Week 7 Session 1 - Part 2 SRR BIEREELE

=ervlets can handle multiple requests from multiple clients at the same time
Modern Application

Development : Week 7

Feedback Form Mo, the answer is incorrect.
Score: 0

Accepted Answers:
serviet apps,in general, uses up a lot of processing time compared to CGl applications

serviet apps,in general, uses up a lot of processing time compared to CGl applications

Quiz : Assignment 7

Week B
3] Servlet interface are written in 1 point
Week 9
html
xmil
Week 11
none of these
Week 12 Mo, the answer is incorrect.
=core: 0
Download videos .{ﬂ.c:c:epted ST
java
Text Transcripts )
4) 1 point

Import Java.io.™;
import javax.servlet.*;
import javax.servlet.http.*s

public class HelloWorld extends HttpServlet |
public void doGet [HttpServlietRequest request, HttpServletBesponse response)

throws IOException, ServletException
[

response.setContentType [(“text /html™) ;
PrintWriter cut = responae.getWriter():
cut.println("<html>");
out.println(“<head>®); h
cut.println(™<title>Hellc World!</title>");
out.println(®</head>");
out.println{“<body>");
out.printlni{®<hl>Hallo World!</ hl>"):
out.println(“</body>"):
out.println{™</html>")
)
|
Figure 1

The above example is in what format?

html

java

xmil

none of these

Mo, the answer is incorrect.
score: 0

Accepted Answers:
java

a) The following is NOT true about the example 1 point

setContentType modifies the request header

In CGl, system.out.println is used instead of PrintWriter

doGet method is called by the server to allow a serviet to handle a GET request.
NOME OF THESE

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
setContentType modifies the request header

6) The following is true about the program 1 point

This is a program which depicts how the get method in the request should be dealt by the doGet method
This is not the whole program, it has more details such as locales

dozet method writes to the response headers and body

All of these

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
All of these

7] Which of the following directory is characteristic of most web application technologies: 1 point

JSP
Web-INF

log
htdocs

Mo, the answer is incorrect.
score: 0

Accepted Answers:
log

8) Default port for Apache Tomcat is 1 point

80
8080
443
8000

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
8080

9) Application generated by Tomcat is available in: 1 point

log
Web-INF

conf

wieb.xml

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Web-INF

10) Cookies, in general, are stored in 1 point

browser
server
servet

none of these

Mo, the answer is incorrect.
score: 0

Accepted Answers:
browser

11) To handle transactions in banking applications, which of the following concept was developed? 1 point

web archive
session

database
log

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
session

12) Which of the following is true? 1 point

same cookie is maintained across browsers for a site
Cookies can be made to survive reboots of system
All cookies are sessions

All of these

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Cookies can be made to survive reboots of system
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| * Response Headers (194 B) Faw Headers

Content-Length: 857
Content-Type: text'hitmibcharset = S0-885%9-1
Late: Fimaa 1.2 MMar 2020 2742005 ka1
bt Ll LT Tl g B "l T |
Set-Cookie o sfourthoookid: Paths/examplas/
* Request Headers (577 B) Raw Headers
Accept text/htmil applicationdtm] +wm...plication/embg=09,." g =0.8
(7} Accept-Encoding: gzip. deflate
(7} Accept-Language: en-Usencg=0.5
(7}  Connection: keep-alive
() Content-Length: 38
(7 Content-Type: application/x-www-form-urlencoded
P Cookie: c2=secondcookie; c3=thirdcookie *
() Host localhost:3080
(3 Originc hitpy/Aocalhost-8080
ich of the following is true about cookie c4?

W

=

Cookie c4 is being sent by browser so server can use previous interactions within path="/examples/* folder
This cookie is currently being maintained in the browser

This cookie has just been created by server

All of these

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
This cookie has just been created by server



